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o el
P38 R a plang fogana b o gl (1
11 Jha ¥

B=2x55+2x735 A=2x(55+7,3): ol o a2 canadl

B=2x55+ 2x73 A=2x(55+73) : Ll
— 11+ 14,6 =2x12,8
=25,6 = 25,6

2x(55+73) = 2x55 +2x73 : ol A=B: ol
2x (5,5 + 7,3) ehall Ui a8 Wl J 4
2 Jha ¥

D=65x 5 C=6,5x(3 -7,5) : Gl o a1 a3 o]

3-65x7,5
(=S 3= plia — 2
2 sacld %
D=65x3 - 65x7)5 C=6,5x(3-75) ;L
=19,5 - 48,75 =6,5x(-45)
=-29,25 =-29,25

6,5x(3 -75)=65x3-65x75 :o¢l C=D : oihad
<1 Bal®
A 4y pde Ay 5 x 9 a
a(x-y)=ax-ay $ a(x+y)=ax + ay
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_LLQM*
i 4 ke Al nyesbsa
n(a+tb-c)=na + nb - nc

a+a+a+a+a -t + a : gsaxall ¥

F 3
¥

Jgaal) ‘s

s Jlia ¥

3+3+3+3+3+3=06x3-=15
(-5) +(-5) +(-5)+(-5)=4x(-5)

1 Akl Gl /¥
. ed (s ke e g
;b b
A=3a + 25a ;; B=35a + 2a + a

C=7a-35 ;; D=-11,5a - 25 -a ;; E=2la—3,5a+5,5a

: Jadl
A=3a + 25a = 28a 5 B=3,52 + 2a + a = 6,5a
C=7a - 3,5a = 3,5a 5 D=-11,5a - 2,5a - a = -15a

E=2la - 3,5a + 5,5a = 21a + 5,5a - 3,5a = 26,5a - 3,5a = 23a
2 Rkl Cppad [

Lok Ghiydie e b 5 b
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: shle by

A=2a + 3b - 55a + 7b : B=a + b -11b + 0,52 - 11
: Jadl

A=2a+ 3b - 55a + 7b B=a + b - 11b + 0,52 - 11
=2a - 55 + 3b + 7b =a t+ 052 +b-11b - 11
=-3,5a + 10b =1,5a - 10b - 11

D OS s gl — 2

<2 bacld
t A & pde ) yyx9b g a
(a+b)(x+y)=ax + ay + bx + by
R RAT&
(a+b)(x+y)=a(x+y)+b(x+y)
=(ax + ay) + (bx + by)

=ax + ay + bx +by

s Jla ¥
A=(2 +x)(x +6) B=(-3 +x)(1 -x)
=2(x+6)+x(x+6) =-3(1-x)+x(I -x)
=(2x + 12) + (x> + 6x) =-(3-3x) + (x - x)
=2x + 12 + x* + 6% =-3+3x+x-X%x
2x + 6x + x* + 12 =3x + X - X -3
=8 + x° + 12 =4x - xX* - 3
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C=(-2x-3)(-x-5)
=-2x(-x-5)-3(-x-5)
=-(2x" - 10x) - (-3x - 15)

=-2x> + 10x +3x + 15

=-2x> + 13x + 15
: Gl
iy 2l — 1

sl 84 o (38 i £ gana LUS g Jranil

G idall Jalall e Gaad Jasd o Jid o A als A3aMa @

A=6a + ax
=a(6 + x)

D=5x + 10x* - 20x

5x (x° + 2x- 4)

Glladia) = g jlal = (g ya

s e — (2
5 B=a’ + 3a 5 C=2ax - 4day
=a(a + 3) =2a(x - 2y)
;; E=2abx + 6aby - 2ab ;; F=2x(1 + x)
+ 7(1 +x)
=2ab(x + 3y - 1) =(1 +x)(2x +7
)

;:LALQ.“ lUatal) g Juandl) g il
(gl clilaial) ) duald — (1
Ol Qpde Ol b s a

(a + b): = a% + 2ab + b’
(a -b) =a’-2ab + b

(a-b)(a+b)= a> - b
sl A (2
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(a+3)Y 5 (x+y) 5 (2x+ 1Y

(x-5)7 5 (2-y) 5 (3x-7)

(x-2)(x+2) 5 (6x+1)(6x-1)

Jall

(x +y)yY=x"+2.x.y+y (a+3)Y=a"+2.a.3+3
2 + 62+ 9 =X’ + 2xy + Y’

(2x + 1)Y=(2x) +2.2x.1+ 1 (x-5)y =x"-2.x.5+5
=4x" + 4x + 1 —x* - 10x + 25
(2-yP=2"-2.2.y+y 5 (3x-7P=(3x)-2.3x.7+7

X + 4942 - x9= =4 - 4y +

(x -2)(x+2)=x> - 22 5 (6x+1)(6x-1)=(6x) - 1I°
=x* - 4 =36x" - 1

Dbl dendlo (@

A=x*+4x+1 ;; B=25x*+30x+9 ;; C=49 - 28x + 4x°

D=9x*-30x +25 :; E=4-x* ; F=81x*- 121

Jall

A=x*+4x+1 ;; B=25x*+30x +9 : C=49 - 28x +

4%

=x> +2.x.2 + 2? =(5x ) +2.5x.3 + 37 =7 -2.7.2x

+ (2x)’

=(x +2) =(5x + 3) =(7 - 2x)

D=9x" - 30x + 25 o E=4-% . F=81x" - 121
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=(3x) -2.3x.5 + 5° =27 - ¥ =(9x)* - 11°

(3x - 5) =(2-x)(2 +x) =(9x - 11)(9x
+ 11)
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